20224F4 H 1 H BIE

HStEaE N DWEWEEES
Hsk e —E Ao 2 — FIR—ILEER
HmEmprE¥E  Ba®

3

5l g

U

(1) & oEMENT,
PP - RIS  1,672HAL P PR2 - HIERIRAE 3,428 i
(2) FERT O AL, 1,7 =10.54H T4,

(3) FIHEAHEEIT
(FESAEL)
[1BIEHD )]
1,672H47 X 10.54 = 17,623
17,623 — (17,623 X 90%) = 1,763
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1,672HA7 X 10.54 = 17,623H
17,623 — (17,623 X 80%) = 3,525
[3BIE#HD ]
1,672H47 X 10.54 = 17,6231
17,623 — (17,623 X 70%) = 5.287H
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3,428 (7. X 10.54 = 36,131

36,131 — (36,131 X 90%) = 3,614[1
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3,428 A7 X 10.54 = 36,1311

36,1311 — (36,1311 X 80%) = 7,227H
[3FIEHDF]

3,428 iz X 10.54 = 36,131

36,1311 — (36,1311 X 70%) = 10,8401
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